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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 148 2) 582 3) 435 4) 436
-129 -176 -174 -_418 5
3
4,
5 803 6 679 7 850 8 547 >
- 656 -622 - 838 - 469 6
7.
8.
9 685 10) 969 1) 113 12) 556 9.
- 600 -620 -104 -184
— — — 10.
11.
12.
13) 610 14) 239 15) 379 16) 505 13.
-223 -230 -183 - 205
- - - 14.
15.
16.
17) 762 18) 274 19) 129 200 701 17
-674 -213 -100 —_384
18.
19.
20.
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers
1, 19
1) 148 2) 582 3) 435 4 436
-129 -176 -174 ;418 2 406
19 406 261 18
3 261
4. 18
5 803 6 679 7) 850 8 547 > 147
- 656 -622 - 838 ;469 6 57
147 57 12 78
7. 12
8. 78
9 685 10) 969 1) 113 12) 556 9. 85
- 600 -620 -104 ;184 349
85 349 9 372 1o
11. 9
12 372
13) 610 14) 239 15 379 16) 505 13. 387
-223 -230 -183 ;205
387 9 196 300 14, 9
15, 196
16, 300
17) 762 18) 274 199 129 200 701 17 88
-674 -213 -100 ;384
88 61 29 317 18. 61
19, 29
2. 317
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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
85 406 147 78 57
196 372 18 9 9 1.
387 19 261 349 12
2.
1) 148 2) 582 3) 435 3.
-129 -176 -174
4,
5,
6.
4 436 5 803 6) 679
- 418 - 656 - 622 .
8.
9.
7) 850 8 547 9 685 10.
- 838 - 469 - 600
e e —_— 11.
12.
13.
10) 969 1) 113 12) 556
- 620 - 104 - 184 o
15.
13) 610 14) 239 15) 379
-223 - 230 - 183
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